P-1I(1+1+1)H/Pr/18 (N)

2018
GEOGRAPHY (Honours)
Sixth Paper
(Practical)
[New Syllabus]
Set - |
Full Marks : 50 Time : Four Hours

The figures in the margin indicate full marks.

1. Identify megascopically the given five specimens of
rocks and minerals and point out any two characteristics of
identification. 5%2=10

5 The marks obtained by the students in an
Examination are shown in the following table.

85 (58|70 (65|88 |84 |80|74|71]68
49 |96 | 7688396938 |63|42|72
77 (89147 (34 |89|75]|89 |77 (6794
82 |56 [85]74|89(96|40 |43 |72 |86
00 |87 ]79]|67|69 8193|7884 |76

(a) Prepare a cumulative frequency distribution table

based on the given data. 4

(b) Draw ogive (less than type) and show D, and
P, on the curve. 24242
P.T.O.

9/30 - 1200
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| 1. }dmtlfy
X wc]&smdmmua]sand

i[ and origin, (iv) none
10+2+1=13

I |
l-l 5 6 T8 9 |
1 13 14 16 15 ] : . :
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; 6+2=8
ient of correlation from the
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M (h ™

ek

& I'i'ﬁ

Total | Child |
la- | Popula- CD Block Popula- | Popula- N
_| tion tion | tion : e
20406 | Puncha 108045 | 15845 w i
700 | 24080 | Arsha 129108 | 22048 Full Magks;. 38/ b
96 | 29038 | Jhalda-1 115493 | 19908 | The figures in th

9152 | 21621 | shaldalt | 123096 | 20705 , 1. Prepare a quest
: ]ml Blghlﬂlmlﬁ 112388 18882 i 2. (R) The .
S | Pelwampwr | 1180711 19719 crops in the state of Wes
QIR IR b Basbarar | 14917 | 2473 2011 are displayed belo
{ 127609 | 18709 )
= | YA 85160 11610
| 3037 | Bundwan | s3673 | 12500
"I!B given line on the geological
1e map under the heads of :

b | [ ]

ii’s relaﬁm with the underlying
T }M%ﬂk’z—ls

342=5 Al
. f s T e A i
b = >

e
g & B [ I‘
I = il
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b o ] =g B i
! D S R 5 |

T 28. | Bariadah
29. | Baliyagoratola
5 30. Dangdung
| 31 | seldih
; ‘_‘ 32. | Dangar

() Apparemmﬂ-i'_

(i) Division
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Relative Humidity (%)

Winnipeg |  Sidney

9760 | 6876

98.62 73.76

97.00 76.30

84.76 78.06

73.82 77.39

68.64 74.82

73.00 75.65

76.46 72.00

241 | 6836

4000 | 7506 | 6507
2525 | 6164 | 9234 | 6304
RN e | o | e

- Data Source : Miller, 193]
nd out the areas of relative Concentration of
th the help of the given data by
otient. Display the Nature of

' }L-‘:r 4+442-10
R o) :

CD Black
tion
Saltora 13580 |
Mejhia 86188 |
Gangajalghati | 180974 | -
Chhatna 195038 |
Indpur 156522

Bankura- 107685

Bankura-I1 140864

Barjora 202049 | :

Sonamulkhi 158697

Patrasayar 184070

Raipur 1571 | 4

3. Draw a

geological map and inte
heads :

() Succession

AT

(b) Topo

35 .

Scanned by CamScanner



Scanned by CamScanner



20+10=30

- 243=5
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Full Marks : 50
The figure
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p o the ILWIS software platform
nd save it to a specified folder
-with your Roll & No (without
asﬁ! b -

system file with reference 1o

: Lambert Conformal Conic
: Everest (India 1956)
- Indian (india, Nepal)
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34466 21290

51068 28383
. :Reserve Bank of India, 2017
Median values of per capita net
the three Indian States for the

E“-.' three states experiences
capita net domestic product in the

.- o represent the above data
be allowed a maximum of 20
. 5] 24243+3=10
va-voce,  243=5

Full Marks : 50
The figures in the n

1'- @Mh BT !

@ Calculate the
comment on it.

b
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ve ftba !Pﬂt}iﬁed. fﬁ i
jith your Roll & No (w_
s filename.

symﬁlewuhmfmmeb
mmetmonmchme

‘:Ozﬂmgrap}ﬁc

N/A
IN/A

odeti PEWonwlnchﬂn ,
‘ﬂfmnccd map will be

“‘m htwepméd on:

] _‘It;,___‘_ 24 f
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imports of Oil products in’
er the decade of 2001-2010. Label

il be allowed a maximum of 20
g 0. No. 5] 2+2+3+3=10

Book and Viva-voce. 243=5
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1008.00
1170.00

304 888.00 57 1154.00
191 1066.00 37 1155.00
276 1270.00 100 1302.00
449 798.00 75 920.00

Source : Reserve Bank of India, 2017

(ii) Calculate the difference of rural and urban

A | Verty line of each of the Seven Sister states of North East
India.

| () Calculate the Mean Poverty Line for rural and
urban areas separately for the North-east India.

= (iv) Represent the distribution of persons below

":,- lmes i urban anfl rural areas separately among the

Vorth-east Indian states with two separate divided circles and
them properly using MS excel chart layout options.

ol

L
."

ote th will be allowed q maximum of 20 :
fepiete aamering Q. No. 5] - 242+3+3=108
B i) W 1 o e

W
%
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[New Syllabus]
i Set -l

s 2 50 ' ' Time : Four Hours

The ﬁgures in the margin indicate full marks.

1. (a) Interpret the Indian Daily Weather Report given
to you with special reference to precipitation and cloud cover
ith suitable maps, charts and diagrams.

(b) What is meant by. pressure gradient ?
4+4+2=10

k (a) Take reading from Maximum and Minimum
Thermometer and calculate the diurnal range of temperature
from the given instrument to you.

(b) Account for the suitable condition for setting up
' 4+1=5

20+10=30
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Sixteenth Paper
(Practical)
~ [New Syllabus]
Set - lll
| . Time : Four Hours i
full marks.

~ Full Marks : 50
The figures in the margin indicate

1. (a) Find out the zone of high pressure and low |
pressure and interpret pressure conditions as 2 whole |

depicited on the given weather map.
(b)hﬂerprctthedirecﬁonand,speedofﬂowofwind
| on the area of given Weather map. ' :

(c) What do you mean by weather forecasting ?
' 6+3+1=10

2. (a) Take reading from the instrument (Hygrometer)
- give to you and compute Relative Humidity.

(b) What is the name of measuring instrument in

Scanned by CamScanner
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| 290067
By ' S 284615 ) Fehmﬁ.ry .
_f___‘f_' 271781 3
_| 261575 : Apil o
6 ° | 250615 May T
17 231515 T
2 :,_*é_ 220032 Y ' :
110" 215432 ‘ : WIEEE Tis
B30, 207984 - I'a

the full form of LIS, Differeniate forward Octaber
_overlap. 243=5

imum M of a playground above mean

ft. Minimum altitude of the same

a level : 6000 ft. A photograph

was taken from height above msl:
scale of that photograph. 5
lay of road network from the given

:

=
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_1505900
4580544
1502647

6909015

8930295
3403204

2478280

two points on that photo : 6

of corresponding two points
: 5

a geographic

Ellipsoid and Indiar

the imported
and then note
comer of the
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: .'2+2+=_4+2"w

3+2=5

Scanned by CamScanner



Scanned by CamScanner



Indian, India Nepal as Datum). Georeference
' M-mmﬂ:evnlueofcu-ordmatepointoffow
! mﬂfihemaptoaeethedevmmﬁumthmeofscamwd
Taster, : - 2+2+4+2=10

7. Laboratory Note-Book and viva-voce. 3+2=5
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 line ? How is it demarcated on
uses. 24241=5

of a photographed object:

e between top of that
ect and principal point of the

ground (while taking the
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(4)

a:nd then note down the valye of co-ordinate point of four
comer of the map to see the deviation from those of scanned
raster, 2+2+4+2=10

7. Laboratory Note Book and viva-voce. 3+2=5

P-1ll
2017
GEOGRAPHY  (Honour
Fifteenth Paper

‘ {Pruc_ﬁcu]_i k g
[Revised New Syllabus]
Set - VI '

Full Marks ; 50

The figures in the margin indicate

1. Mention merits and limitations of

Method of collecting primary data. '

2. Following table show data on C

a stream. Calculate discharge for comrespo

using following rating curve equation and

preparc a rating curve. :
The Rating Equation : Q = 49.915 (G

Gauge, G J

(m) (o’

3.8 ?
4.7
5.5

5.85




=
Bl
Ra? —

5+5=10

5 g simmre ? Writel ﬂbout . .
lacement property of vertical seria
saa 2+3=5. |

of the aerial camera = 12 inch, ) s

of drainage network of the given

199900 |

2000-01 |
2001-02 |

2002-03

2003-04 |

2004-05

2005-06 =

2006-07

200708 |
200809 |
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Asnwer all questions.
1. Identify the set of rocks and minerals specimens () b

2. (i) What is ‘snow ball sampling ? Give example.

(i) Arrange the following data into simple frequency |
ibution and calculate ‘median’ and ‘mode’.
Table - 1 Daily Number of Car Accidents

ey D
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2803, 27.08, 2667, 2597, %
e 25, 0448 2388 2338, 2225 2078
_? 2041 B0 08 1663, 17.74, © 17.02, 14.97;
B2 1100, 1047, 9.79

| (i) From the data given above calculate the frequency
| F’*  densities for each class and draw histogram using it. gl .

(iv) Draw a cumulative ﬁequency polygon (less than
type) and plot 6th decile and 2nd quartile on it.

. “(v) Find out the number of states whose urban
: population percentage fall within Sth and 8th decile.
: 2+2+2+4+4+2+4=20

..3 () Draw a geological section along the given line
‘and interpret its geological succession and geologlcal Stmcture

(ji) What is ‘in lier’ and ‘out lier'?
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60-62
63 - 65
66 - 68 :
69-71 ‘ - .
72 - 74 | g 1

(V) Calculate mean absolute deviation about median.

~ (vi) From the following table (Table-2) calculate the
value of ‘r’ and comment on the degree of relationship.

i

Sla

JTable - 2

X: |2 1973|515t i7sila L i
Y 12]4]2]10]22] 315

(Arithmetic mean of ‘X’ and ‘Y’ series are 11 and I
10 respettively). . - 242+5+2+4+2+43=20 B
g (i) Draw a geologlcal sectlon along the o

Scanned by CamScanner



iFQU-_rieenth Paper

 (Practical)

[New Syllabus]
Set - IV

Time : Four Hours
full marks.

1 Marks : 50

The figures in the margin indicate
Answer all questions.

1. () What is the difference between rocks and

| (i) Mention the megascopic identifying characteristics

¢ least two) of the rock and mineral specimens (4) given g
~ toyouand write down the name of them. 2+(2x4)=10
2. @) What is the difference between probability
ing and non probability sampling ?

--(ﬁ) From the followmg cumulative frequency
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N\ me the following table &howzngsihe scores of
in 10 matches determine which ‘batsman is more
m’hﬂt in mmg uns,
Table - 3
15 3
49 40
22 51
102 68
75 69
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| 2017
EOGRAPHY (Honours)
Fourteenth Paper
(Practical)

[New Syllabus] -
Set - V

Time : Four Hours

figures in the margin indicate full marks.

Answer all quesuons

'_'_on at least two important properties of each of them.

2x5=10

. -() What is the dlﬁerence between parametric data
1 parametric data ? 2

(@ Find out the mean, median and mode of the
1oers : (Table - 1 : Numbers)
f A

72, 73, 29, 70, 54, 91, 57, 72, 61,:29:70

ency curve from the follo‘mng data
'th;:_ ibution, :
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), 10, 286, 497, 316, 211, 372, 93,
235, 749, 149, 257, 82, 79, 33, 73
403, 129, 57, 429, 263, 473, 767 :

Gj)meiourmammudckvmﬁanandcmnnumn;ﬁﬁh

() Find out semi-interquartle range of the

(Vi) If the values 33 and 10 are replaced by 173 a
108 what will be the changes in standard deviation ? 3 (

2+2+5+24+3+3+3=20 0
3, (1) Draw a Geological section along the given Ime

5 - and arrange the rock beds according to their age. (Map-1).

(i) Interpret the geological structure.

(iii) What is the difference between senes
e
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Tuﬁe': Fc;m Hours

e

e ﬁgures in the margin indicate full marks*

1. (a) Diff@ntiate between schedule and que:stionnaiie.
4 _ 4

| (b) Give an example of open-end and closed-end
estions each. | 2
j@&w 2. (a) The following table shows the Population of some
[ urban centres for the district of North 24 Parganas in

of Urban Centre |

"} T

_(!.--"‘"-'
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il e

34928
| 16594
| 51607
| 34952 \ -
| 7612 | =

“there is any primacy in the Amazon
- o Hwang Ho
erstand by GPS ? Write on | Mekong !
g.ﬁ?& 244=6 ; th.edata .
veen rester and vector data scatter d;ag'mm to sho f_-. s fe
equanim_&_j?ﬂfﬁﬂ" G
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fthe coordinage
the latitude and
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109844

103716

150902

51 | 146919

33 | 108955

102578

137432

stand by remote se\l"{sfng?

chniques are superior over

2+3=5
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P-Ni(141+1)H/Pr/16
2016
GEOGRAPHY (Honours)

Fourteenth Paper
(Practical)
| Set - |
Full Marks : 50 Time : Four Hours
The ﬁgurés in the margin indicate full marks.

1. Identify the given simple of Rocks and Minerals and
ko mention at least two important properties of each of them.
11 ‘ 2x5=10

2. (8 Compute Median and Mode values of

J temperature of 85 stations for which data is given below :

4+4=8

?' ? ' Temperature (degree centigrade) No. of stations

r e ‘-."5 and above but less than S “ ' 13

q : | 5 and above but less than 15 . 20 _;

15 and above but less than 25
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78]
86] 62| 68 81|
10

Draw a geological section along the given line and
it. ' ‘ ‘ * 10+5=15

3+2=5
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(;P{rucﬁ'c':dn
[old Sy“obus]
Set - Il

Time : Three Hours

 The figures in the margin indicate full marks.

den '(g) Take reading and calculate the Relanve Hu:rmdlty
, the given Hygrometer i
~ (b) Discuss the suitable precautions for sefting up of

| ""the-.:given Indian Daﬂy thher Report wnh
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| _ 2431
scuss the disad\?antages of arithmetic mean. 2

. An air-craft while flying at an altitude of 40000
mean sea level takes an aerial photograph of a -
. Find the focal length of the camera. 5

‘ﬁs«v remote sensing ? Dlscuss the
es of remote sensing. T
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SEOGRAPHY (Ho
" Fourteenth Paper
(Pfucﬁcul]
Set - |l
l Time - Four Hours™ S|

" The figures in the margin indicate full marks.

1. Identify the given sample of Rocks and Minerals and

n at least two important properties of each them.
2x5=10

: 50

2 (a) Compute Mean and Median values of

: o

ation of 80 stations for which data is given below :
\ | | 4+4=8 *

. P reéipit&tlio_n...amounts (cm) No. of stations
 Lesthan10 o
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“Calculate Karl Pearson’s coefficient of correlation
ce and supply of a commodity from the follo

17[18[19]20 [ 211 22] 23|24 |25
38]37]38]33 [ 32[33 ] 32|29 | 26

a geological section along the given line and
10+5=15

3+2=
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(Practical)
Set - Ml
5250 T‘:rﬁe - Four Hours
figures in the margin indicate full marks.

Identify the given sample of Rocks and Minerals and

t least two unportant properties of each of them.
2x5=10

. (a) Compute median mathematically. How many

rded preclpltatlon >7.5 cm ? Estimate using
4+4=8

*’:Amunt of precipitation (cm) No. of Rainy days

Scanned by CamScanner



B ©) Calculaie Karl Pearson’s correlation coefficis
tween the average height of plants (cm) in a Grassland a
ual rainfall (cm) from the given data :

69
68

3. Draw a geological section along the given line and
it 10+5=15

% 4Laborat01y notebook and viva-voce. 342=5

R. -‘{
s

‘t: 2 e

S ARHGY gim bk ey g R RITRAERE,
B & a2 - k=l o g - o O

' ' s

= o R R
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el

2016

GEOGRAPHY (Honours)

Fourteenth Paper
(Practical)
Set - v

. T - '-'5.

P (Isls0RPe16

~ Full Marks : 50

Time : Four Hours

The figures in the margin indicate full marks. _
1. Identify the given sample of Rocks and Minerals and

mention at least

two important

properties of

each them.

; on literacy rate
. coefficient of Range.

‘—-—_

-___—._.—-—-'-'--—___
[Purba Medinipur

2x5=10

2. (a) Compute coefficient of SD from the given data

of the districts

5T WB (2011). Compute

6+2=8

District

Literacy Rate

(%) in 2011

87.66

Kolkata

87.14

e,
A

i kNurth Twenty Four Parganas

84.95

)R o

83.85

1992
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Koch Bihar e e
Dakshin Dinajpur e
Jalpaiguri s

T 70.95
Birbhum 70.90
Murshidabad 67.53
Biive 65.38
Maldah 62.71
Uttar Dinajpur 60i13 ¥

(b) Under what circumstances you need to form

unequal groups ?

2

(c) Calculate Karl Pearson’s correlation coefficient

10

64

65

66

67[- 68 | 69

70

Thickness of sediments (cm)

26

27

25

28|30 28

32

bet.ween the depth of Thalweg (cm) and thickness of
sediment (cm) from the given data :

Depth of Thalweg (cm)

46y
S9E

3. Draw a geological section along the given line and —
10+5=15

interpret it.
4. Laboratory Note book and viva-voce.

3+2=5
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% i "ﬁ'"‘?%&- (Erachcul] o '.""’*" Y

e ['iREVIsed New Syllabus]'”‘ X,
“ g SERGOT  Set - AV

ull Marks : 5 & Time : Four Ho
: 3 «’1 . The figures in the margin indicate full marks.

A 1. '(a) Differentiate between schedule and questionnari(;
iy ’?h i () Give an example of open-end and closed-end
& questlons each. 2
.:-:f. 0 (@) The following table shows the Population of some
.""::E»-:-;‘ the urban centres for the district of North 24 Parganas in

it ¢ state of West Bengal. Represent the same by Rank Size

oy 4

[ Name of Utban Centre | Population_

"--?4_'151;1 ;aLm 102163 sl R

1350 oM
> -'-ﬁ;il-i N -.,_‘.3
E « = el G R e
oty ST T i “'_'u . 1
A ¥ S 2 -;,\._. 1~
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understand by GPS 2 Write on
of GPS. '
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n geostationary an

# 2

A mwneatsketches as and
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. : 103716 ‘! 4 v ;'-_.'-_3.-.-,
g b 3 'q-.
310821 [ 159919 [ 15090 < nsert the data ir
1533 1108955 | 102578 | yagram to represent U
1146919 | 137432 | pware ¢
ind by remote sensing 2 P e :
2 mn rﬁl\lﬂﬂd— : ... b 1

‘f.-"—. mﬂi‘!lles m"e S’u]nﬁor over
: - 243=5 4 — Save the fle Wi

Scanned by CamScanner



Scanned by CamScanner



vith respect 1o th
Vith re e
as andwhere req i area
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any of the coordj
1 nate
down the latitude
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. 50
61898
41625
| 3408
| 1659
| 51607

34952 |

ere is any primacy in the
2 |
. -' .. by GPS ? Wntc on ¥
s of GPS, b

" Insert the
g : =
~ scatter diagram b

' and sediment mds“@
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Flﬁeenth Paper
(Practical)

[Revised New Syllabus]

. | Set - | e

Marks : 50 | Time : Four Hours

' < The figures in the margin indicate Sull marks. |

‘7"5"‘;-; 1. Prepare a model schedule for collecting primary data

through a socio economic survey to assess the status of
‘?w" public awareness in enrolling children in primary edmauon in

*’ & block you reside. 5

¢ "”* 2. The following data shows top fifteen most populous
'~ cities in the state of Odisha in 2011.
4 ) . e e =

| -L:'_Ig_: S - .
: L hubaneswa 885363 |

A 536450' g

I : e N
T = l'_ : o b :_G‘gﬁ.;l;_‘): L 1'&, 15‘1'.1
. i : i

d 1
e Ll g 7 _-, 3 ) ; ! &
L o R e NEAAN - Y i e L ST
sl = 4 T
-
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98238
84830 3
80625 '
( 80403
AR 71208
Y B BT
| 3707308
4 _
oy
e A
retical population of the cities
g Par 's distribution (following Zipf,

ip of the given cities
L .I 3 ; : 1
_%‘ii‘lgg sansynclunnous group

1 T e - 2+2=4

g4 % g is-
b

o

s
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R
M

17783

2737

3470

15315 .

1850

25014

_ 2058

185470

¥

5944

|

790

252571

6617

1 |

197231

18711

1195

198984

22619

2777

| 3018836

229717

23718

—..
5

iguri, 2001 with the help of Lorenz Curve.
sl ,

tpret the distribution pattern briefly.
o -'.i'l' : 4 ! I e ; -

1t the unequal distribution of agric al
hold industry workers in the district of

4+4=8

2+4=6
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(d) The
be iy follo

hsuuwmchcﬁm btmm“
Mm:l%y? =

30-34
35-44

.&_]

WIng t&ble shows the
Using suitable
is more rehable in the

2
e

wor&:of:\w =

mqum

| Matches

Score

——

Batsman

=A Batsman - B

1
2
3
4
5
6

10
32
25
50

77
14

28
29
39

38
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P-1I{(1+141)H/Pr/15(N]
2015
GEOGRAPHY (Honours)
Fourteenth Paper
(Practical)
[New Syllabus]
Set - I
‘ Full Marks : 50 | - Time : Four Hours
- The figures in the margin indicate full marks.

1. Identify the given hand specimens (5) of rocks and
ineral mentioning two properties of each them.  2x5=10

2 (a) Distinguish between stratified sampling and
- systematic samphng ?
' (b) Prepare a cumulative frequency distribution table.
.  Locate the median graphically by drawing ogives.

RamfallRecorded(mmm)ofam:wstamn
36days -

10 12 15 11 60 46 38 25 20 18 16 26
29 18 17 34 48 36 43 27 23 44 19 27
37 2933 57 21 41 11 52 40 30 34
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00-3«0
3000-3500
 3500-4000
40004500

“ -"'\
= -.-!, -

17 rt’““I’eﬁ"tl‘iff:ly find the mode.

e | 0-500

500-1000

1000-1500

90

218

86

[so62000

2000-3000

] .

15

'31-""!}';' :
Y s

1+2+3+3+3+2+2+4=zo E
ieal map along section line (Set1V)
f'ﬂ‘ﬁ £

W;JAI“

qr-;..g ;f-' =
T

Scanned by CamScanner

Ifmﬁm and median of a frequency dlStrlbutIOIl

‘) Fmd out standard deviation from the followmg



P-I(1+1+1)H/Pr/15(N)
2015
GEOGRAPHY ({Honours)
Fourteenth Paper
(Practical)
[New Syllabus]
Set - V
150~ | Time : Four Hours
The ﬁgures in the margin indicate full marks.

.~ Identify the given hand specimens (5) of rocks and
Is, menuonmg two properues of each them. 2x5=10
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(© If the value of S.D (o) of the set of
n 18,7, 5, 7is 1.675, then write down the
followmg observatlon 6, 10, 16, 14, 10, 14.

(@ From the following table calculate the co-efficient
'emon s method and interpret it. -
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